

$$\nabla \times M - M \times \nabla = \underline{D} \times M - M \times \underline{D} - 3M \cdot N - 3N \cdot M - \frac{1}{2} \times M + M \times \underline{L} + (t_r N)M + 2(t_r M)N + 2(N \cdot M)1 - (t_r N)(t_r M)1 \dots \dots \dots 1.9$$

$$\underline{\nabla} \cdot M = \underline{D} \cdot M - 3\underline{L} \cdot M - N \times M + (t_r M) \dots \dots 1.10$$

2.2. Dyadic components of the curvature tensor:

The strangled components of the curvature tensor $R_{\lambda\mu\nu\rho}$ can be split into following manner.

- R_{oioj} Containing two indices equal to zero.
- R_{oijk} Containing one index equal to zero.
- R_{hijk} Containing no index equal to zero.

Here indices are Lorentz indices denoting components with respect to

O N T. And h, i, j, k take the values 1, 2, 3 strangled components can but be calculated using

$$\Gamma^{[tsr|k]} = \frac{1}{2} \Gamma^{prq} \Gamma_{..q}^{ts} - \frac{1}{2} \Gamma^{trq} \Gamma_{..q}^{ps} + \Gamma^{[pt]q} \Gamma_{..sr} + \frac{1}{2} R^{strp} \dots \dots \dots 1.11$$

Where $[t|sr|p]$ means s and r are excluded from antisymmetrisation.

Here follow the component of curvature Tensor.

$$R^{0101} = \Gamma^{001,1} - \Gamma^{101,0} - \Gamma^{112} \Gamma_{-2}^{00} - \Gamma^{113} \Gamma_{-3}^{00} + \Gamma^{012} \Gamma_{-2}^{10} + \Gamma^{013} \Gamma_{-3}^{10} - \Gamma^{101} \Gamma_1^{01} - \Gamma^{102} \Gamma_2^{01} - \Gamma^{103} \Gamma_3^{01} + \Gamma^{012} \Gamma_2^{01} + \Gamma^{013} \Gamma_3^{01}$$

$$R_{0101} = -s_{11} + a_{1,1} + a_{2(N_{13}-l_2)} - a_{3(N_{12}+l_3)} - s_{11}^2 - s_{12}s_{12} - s_{13}s_{13} + 2(\omega^3s_{12} - \omega^2s_{13}) + a_1^2 + (\Lambda^2)^2 + (\Lambda^3)^2 = Q_{11}$$

$$R_{0203} = R_{0302} = -s_{23} + \frac{1}{2}\{a_{2,3} + a_{3,2} + a_1(N_{22} - N_{33}) - a_2(N_{12} - l_3) + a_3(N_{12} + l_2)\} - s_{12}s_{13} - s_{23}(s_{22} + s_{33}) + s_{12}\omega^2 - s_{22}\omega^1 - \omega^3s_{13} + \omega^1s_{33} + a_2a_3 - \Lambda^2\Lambda^3 = Q_{23}$$

$$R_{0123} = \{s_{12,3} - s_{13,2}\} + (S_{11}N_{11} + s_{12}N_{12} + s_{13}N_{13}) + l_2s_{13} - l_3s_{12} - \frac{1}{2}(N_{11} + N_{22} + N_{33})s_{11} - (S_{11} + S_{22} + S_{33}N_{11} - S_{11}N_{11} + 2S_{12}N_{12} + 2S_{13}N_{13} + S_{22}N_{22} + 2S_{23}N_{23} + S_{33}N_{33} + 12S_{11} + S_{22} + S_{33}N_{11} + N_{22} + N_{33} + \Lambda_1 - N_{12} + l_3\Lambda_3 + (N_{13} - l_2)\Lambda_2 + 2a_1\Lambda_1 - a_1\Lambda_1 + a_2\Lambda_2 + a_3\Lambda_3 = B_{11}$$

$$R_{0112} = S_{11,2} - S_{12,1} + \Lambda_{11}^3 + (N_{23} + L_1)(S_{12} + \Lambda^3) + \frac{1}{2}(N_{11} - N_{22} + N_{33})(S_{13} - \Lambda^2) - (N_{13} - L_2)S_{22} + (N_{12} + L_3)(S_{23} + \Lambda^1) - a_1(S_{12} - \Lambda^3) + (N_{23} + L_1)(S_{12} - \Lambda^3) + \frac{1}{2}(N_{11} - N_{22} + N_{33})(S_{13} + \Lambda^2) + a_1(S_{12} + \Lambda^3) + (N_{13} - L_2)S_{11} + \frac{1}{2}(N_{11} + N_{22} + N_{33})(S_{13} + \Lambda^2) = B_{13} + t^2$$

$$R_{0221} = \delta_{22,1} - \delta_{12,2} - \Lambda_{12}^3 - (N_{13} - l_2)(S_{12} - \Lambda^3) + \frac{1}{2}(N_{11} - N_{22} + N_{33})(S_{23} + \Lambda^1) + (N_{23} + l_1)S_{11} - (N_{12} - l_3)(S_{13} - \Lambda^2) - a_2(S_{12} + \Lambda^3) - (N_{13} - l_2)(S_{12} + \Lambda^3) + \frac{1}{2}(N_{11} - N_{22} + N_{33})(S_{23} - \Lambda^1) = -B_{23} + t^1$$

$$R_{0331} = \delta_{33,1} - \delta_{13,3} + \Lambda_{13}^2 + (N_{12} + l_3)(S_{13} + \Lambda^2) - \frac{1}{2}(N_{11} - N_{22} - N_{33})(S_{23} - \Lambda^1) - (N_{23} - l_1)S_{11} + (N_{13} + l_2)(S_{12} + \Lambda^3) - a_3(S_{13} - \Lambda^2) + (N_{12} + l_3)(S_{13} - \Lambda^2) - \frac{1}{2}(N_{11} - N_{22} - N_{33})(S_{23} + \Lambda^1) + a_3(S_{13} + \Lambda^2) + (N_{23} - l_1)\delta_{33} + \frac{1}{2}(N_{11} + N_{22} - N_{33})(S_{23} + \Lambda^1) = B_{23} + t^1$$

$$R_{2323} = \Gamma^{223,3} - \Gamma^{323,2} + \Gamma^{330} \Gamma^{220} - \Gamma^{331} \Gamma^{221} - \Gamma^{23} \Gamma^{320} + \Gamma^{231} \Gamma^{321} + \Gamma^{320} \Gamma^{023} - \Gamma^{321} \Gamma^{123} - \Gamma^{32} \Gamma^{323} - \Gamma^{23} \Gamma^{023} + \Gamma^{23} \Gamma^{123} + \Gamma^{232} \Gamma^{223}$$

$$= -(N_{12} - l_3)_{13} + (N_{13} + l_2)_{12} + S_{22}S_{33} + (N_{23} - l_1)(N_{23} + l_1) - (S_{23} - \Lambda^1)(S_{23} + \Lambda^1) - \frac{1}{4}(N_{11} - N_{22} + N_{33}N_{11} + N_{22} - N_{33} - \omega^1S_{23} - \Lambda_1 - 14N_{11} + N_{22} - N_{33}N_{11} - N_{22} - N_{33} - N_{13} + l_{22} + \omega^1S_{23} + \Lambda_1 - 14N_{11} - N_{22} + N_{33}N_{11} - N_{22} - N_{33} - N_{12} - l_{32}$$

$$= \frac{1}{2}\{\nabla \times N - N \times \nabla - (\nabla L + L \nabla)\}_{,1} + \nabla L + L_1L_1 + \frac{1}{2}(S \times S)_{11} + \Lambda^1\Lambda^1 + \omega^1\Lambda^1 + \Lambda^1\omega^1 + \frac{1}{4}(N_{11}^2 - N_{22}^2 - N_{33}^2 + 2N_{22}N_{33} - N_{232}$$

$$= \frac{1}{2}\{\nabla \times N - N \times \nabla - (\nabla L + L \nabla)\}_{11} + L_1L_1 + \frac{1}{2}(S \times S)_{11} + \Lambda^1\Lambda^1 + 2\omega^1\Lambda^1 + \frac{1}{2}(t_r N)N_{11} + \frac{1}{2}(N \times N)_{11} + \{\nabla \cdot L - \frac{1}{4}(t_r N)^2\} = -P_{11}$$

$$R_{3112} = -(N_{12} + L_3)_{,2} - \frac{1}{2}(N_{11} - N_{22} + N_{33})_{,1} + (S_{12} - \Lambda^3)(S_{13} - \Lambda^2) + \frac{1}{2}(N_{23} + L_1)(N_{11} - N_{22} - N_{33})$$

$$- S_{11}(S_{12} + \Lambda^1) - (N_{13} - L_2)(N_{12} - L_3) - \omega^2(S_{12} - \Lambda^3) + \frac{1}{2}(N_{23} + L_1)(N_{11} - N_{22} + N_{33})$$

$$- \frac{1}{2}(N_{11} - N_{22} + N_{33})(N_{23} - L_1) + \omega^2(S_{12} + \Lambda^3) - (N_{13} - L_2)(N_{12} + L_3)$$

$$+ \frac{1}{2}(N_{23} - L_1)(N_{11} - N_{22} - N_{33}) = -P_{23}$$

$$R_{2113} = (N_{13} - L_2)_{,3} + \frac{1}{2}(N_{11} + N_{22} - N_{33})_{,1} + (S_{13} + \Lambda^2) \cdot (S_{12} + \Lambda^3) + \frac{1}{2}(N_{23} - L_1)(N_{11} - N_{22} - N_{33}) -$$

$$S_{11}(S_{23} - \Lambda^1) - (N_{12} + L_3)(N_{13} + L_2) + \omega^3(S_{13} + \Lambda^2) + \frac{1}{2}(N_{23} - L_1)(N_{11} + N_{22} - N_{33}) - \frac{1}{2}(N_{23} + L_1)(N_{11} + N_{22} -$$

$$N_{33}) - \omega^3 S_{13} - \Lambda^2 - N_{12} + L_3 N_{13} - L_2 + 12 N_{23} + L_1 (N_{11} - N_{22} - N_{33})$$

$$R_{3112} = \frac{1}{2}(R_{3112} + R_{2113}) = \frac{1}{2}\{\nabla \times N - N \times \nabla - (\nabla L + L \nabla)\} + L_2 L_3 + \frac{1}{2}(S \times S)_{23} + \Lambda^2 \Lambda^3 + \omega^2 \omega^3 + \Lambda^2 \omega^2 +$$

$$\frac{1}{2}(N_{11} + N_{22} + N_{33})N_{23} + (N_{12}N_{13} - N_{11}N_{23}) = -P_{23}$$

$$R_{ojok} = Q_{jk},$$

$$Q = -s + \frac{1}{2}(\nabla \underline{a} + \underline{a} \nabla) - s \cdot s + \underline{a} \underline{a} + s \times \underline{\omega} - \underline{\omega} \times s - \underline{\Lambda} \underline{\Lambda} + (\underline{\Lambda}, \underline{\Lambda}) 1$$

Is a symmetric dyadic.

$$R_{0123} = B_{11}, R_{0131} = B_{12} - t^3, R_{0112} = B_{13} + t^2$$

$$R_{0233} = B_{12} + t^3, R_{0231} = B_{22}, R_{0212} = B_{23} - t^1, R_{0323} = B_{13} + t^1, R_{0331} = B_{23} + t^2, R_{0312} = B_{33}$$

Where

$$B = -\frac{1}{2}(\nabla \times S - S \times \nabla) + \frac{1}{2}(\nabla \underline{\Lambda} + \underline{\Lambda} \nabla) + \underline{a} \underline{\Lambda} + \underline{\Lambda} \underline{a} - (\underline{a}, \underline{\Lambda}) 1$$

Is a traceless symmetric dyadic and

$$\underline{t} = -\frac{1}{2}\nabla S + \frac{1}{2}\nabla(t_r S) - \nabla \times \underline{\Lambda} + 2(\underline{\Lambda} \times \underline{a})$$

$$R_{2323} = -P_{11}, R_{2331} = -P_{12}, R_{2312} = -P_{13}$$

$$R_{3131} = -P_{22}, R_{3112} = -P_{23}, R_{1212} = -P_{33}$$

Where

$$P = -\frac{1}{2}(\nabla \times N - N \times \nabla) + \frac{1}{2}(\nabla \underline{L} + \underline{L} \nabla) - \frac{1}{2}(t_r N)N - \frac{1}{2}N \times N - \frac{1}{2}S \times S - \underline{\Lambda} \underline{\Lambda} - \underline{\omega} \underline{\Lambda} - \underline{\Lambda} \underline{\omega} - \underline{L} \underline{L} - \left\{ \nabla \underline{\Lambda} - \frac{1}{4}(t_r N)^2 \right\} 1$$

Is a symmetric dyadic. We can write

$$P = -\left(E + \frac{1}{2}S \times S \right) + \underline{\Lambda} \underline{\Lambda} + \underline{\omega} \underline{\Lambda} + \underline{\Lambda} \underline{\omega},$$

$$\text{Where } E = \frac{1}{2}(\nabla \times N - N \times \nabla) - \frac{1}{2}(\nabla \underline{L} + \underline{L} \nabla) + \frac{1}{2}(t_r N)N + \frac{1}{2}N \times N + \underline{L} \underline{L} + \left\{ \nabla \underline{L} - \frac{1}{4}(t_r N)^2 \right\} 1$$

$$\text{We have } t_r p = \frac{1}{2}N : N - \frac{1}{4}(t_r N)^2 - 2\nabla \cdot \underline{L} - \underline{L} \underline{L} - \underline{\Lambda} \underline{\Lambda} - 2\underline{\omega} \underline{\Lambda}$$

In case o^{e^μ} determine a normal congruence ($\underline{\Lambda} = 0$)

$$E = -P - \frac{1}{2}S \times S$$

and its six components give the six components of curvature tensor of the Riemannian 3-space orthogonal to o^{e^μ} . We also have, in this case

$$\nabla \cdot \underline{E} = 0$$

3. Representation of curvature tensor in bi-vector space :

Strangled components of the Ricci tensor are given by

$$R_{rs} = R^t{}_{rst}$$

these can be spilt into $R_{ij}, R_{0i}, R_{00}; i, j = 1, 2, 3$

$$R_{11} = R^0{}_{.110} + R^2{}_{.112} + R^3{}_{.113} = -R_{0110} + R_{2112} + R_{3113}$$

$$\begin{aligned}
 &= R_{0101} + R_{2112} + R_{3113} = Q_{11} + P_{22} + P_{33} = Q_{11} - P_{11} + t_r P \\
 R_{12} &= R^0_{.120} + R^3_{.123} = R_{0102} + R_{3123} = Q_{12} - P_{12} \\
 R_{01} &= R^2_{.012} + R^3_{.013} = R_{2012} + R_{3013} = R_{1221} + R_{0331} = 2t_1 \\
 R_{00} &= R^1_{.001} + R^2_{.002} + R^3_{.003} = R_{1001} + R_{2012} + R_{3003} \\
 &= -(R_{0101} + R_{0202} + R_{0303}) = -(Q_{11} + Q_{22} + Q_{33}) = -t_r Q
 \end{aligned}$$

Hence the ten strangled components of the Ricci tensor correspond to a symmetric 3-dyadic $(t_r P)1$

$$Q - P +$$

a 3-vector \underline{t}
 and a scalar $-(t_r Q)$

The scalar curvature R can be expressed as

$$R = R^r_{.r} = \eta^{rs} R_{sr} = -R_{00} + R_{11} + R_{22} + R_{33} = 2(t_r P + t_r Q)$$

In the Orthonormal tetrad frame, Einstein's equations take the form

$$2T_{rs} = R_{rs} - \frac{1}{2} R \eta_{rs}$$

Hence,

$$\begin{aligned}
 2T_{11} &= R_{11} - \frac{1}{2} R = Q_{11} - P_{11} - t_r Q, 2T_{12} = R_{12} = Q_{12} - P_{12} \\
 2T_{01} &= R_{01} = 2t_1 \\
 2T_{00} &= R_{00} + \frac{1}{2} R = -t_r Q + t_r P + t_r Q = t_r P
 \end{aligned}$$

Hence the energy - momentum tensor breaks up into symmetric 3-dyadic $T = \frac{1}{2}[Q - P - (t_r Q)1]$

3 - vector \underline{t}
 and scalar $P = \frac{1}{2}(t_r P)$

in the 3-space of auxiliary congruences

we know that curvature tensor $R_{\lambda\mu\rho\sigma}$ is represented in a 6-dimensional bivector space by introducing the collective indices

$$\begin{aligned}
 01 &\longleftrightarrow 1, 02 \longleftrightarrow 2, 03 \longleftrightarrow 3 \\
 23 &\longleftrightarrow 4, 31 \longleftrightarrow 5, 12 \longleftrightarrow 6
 \end{aligned}$$

In terms of Q, P, B and \underline{t} the matrix (R_{AB}) , $A, B = 1, 2, 3, \dots, 6$ has the representation

$$R_{AB} = \begin{pmatrix} Q_{11} & Q_{12} & Q_{13} & B_{11} & B_{12} - t^3 & B_{13} + t^2 \\ Q_{12} & Q_{22} & Q_{23} & B_{12} + t^3 & B_{22} & B_{23} - t^1 \\ Q_{13} & Q_{23} & Q_{33} & B_{13} - t^2 & B_{23} + t^1 & B_{33} \\ B_{11} & B_{12} + t^3 & B_{13} - t^2 & -P_{11} & -P_{12} & -P_{13} \\ B_{12} - t^3 & B_{22} & B_{23} + t^1 & -P_{12} & -P_{22} & -P_{23} \\ B_{13} + t^2 & B_{23} - t^1 & B_{33} & -P_{13} & -P_{23} & -P_{33} \end{pmatrix}$$

i.e. $R_{AB} = \begin{pmatrix} Q & \mu \\ \mu^T & -P \end{pmatrix}$ where $\mu = B + \underline{t} \times 1$

Introducing the traceless symmetric dyadic

$$A = \frac{1}{2} \left[P + Q - \frac{1}{3} (t_r P + t_r Q) 1 \right]$$

we have

$$Q = T + A - \left(P - \frac{1}{3} R \right) 1, -P = T - A - \left(P - \frac{1}{6} R \right) 1$$

where

$$R = 2(t_r T - P)$$

Hence (R_{AB}) may be represented by T, A and B as

$$R_{AB} = \begin{pmatrix} A + T - \left(P - \frac{1}{3}R\right) 1 & B + \underline{t} \times 1 \\ B - \underline{t} \times 1 & A - T + \left(P - \frac{1}{6}R\right) 1 \end{pmatrix}$$

2.4. Dyadic analysis of Weyl tensor:

In terms of the Ortho-normal tetrad corresponding to the decomposition

$$R_{\lambda\mu\nu\rho} = C_{\lambda\mu\nu\rho} + g_{\lambda[r}R_{p]\mu} + R_{\lambda[r}g_{p]\mu} - \frac{1}{3}Rg_{\lambda[r}g_{p]\mu}$$

We have

$$R_{rstu} = C_{rstu} + (\eta_{r[u}E_{t]s} - \eta_{s[u}E_{t]r}) + \frac{1}{12}R(\eta_{r[u}\eta_{t]s} - \eta_{s[u}\eta_{t]r})$$

Where C_{rstu} are the strangled components of Weyl tensor and

$$E_{rs} = R_{rs} - \frac{1}{4}R\eta_{rs}$$

we have

$$\begin{aligned} R_{0101} &= C_{0101} + \frac{1}{2}E_{11} - \frac{1}{2}E_{00} + \frac{1}{24}R \\ &= C_{0101} + \frac{1}{2}R_{11} - \frac{1}{2}R_{00} - \frac{1}{6}R \\ &= C_{0101} + \frac{1}{2}(Q_{11} - P_{11} + t_r P) + \frac{1}{2}t_r Q - \frac{1}{3}(t_r P + t_r Q) \\ C_{0101} &= Q_{11} - \frac{1}{2}(Q_{11} - P_{11}) + \frac{1}{3}(t_r P + t_r Q) - \frac{1}{2}(t_r P + t_r Q) = \frac{1}{2}(P_{11} + Q_{11}) + \frac{1}{6}(t_r P + t_r Q) \\ &= \frac{1}{2}(P_{11} + Q_{11}) - \frac{1}{6}(t_r P + t_r Q) \end{aligned}$$

$$\begin{aligned} R_{0203} &= C_{0203} + \frac{1}{2}E_{23} \\ &= C_{0203} + \frac{1}{2}R_{23} \end{aligned}$$

$$Q_{23} = C_{0203} + \frac{1}{2}(Q_{23} - P_{23})$$

$$C_{0203} = \frac{1}{2}(P_{23} + Q_{23})$$

$$R_{0123} = C_{0123}$$

$$\therefore C_{0123} = B_{11}$$

$$R_{0221} = C_{0221} + \frac{1}{2}E_{10} = C_{0221} + \frac{1}{2}R_{01}$$

$$\therefore C_{0221} = t_1 - B_{23} - t_1 = -B_{23}$$

$$\begin{aligned} R_{2323} &= C_{2323} - \frac{1}{2}E_{33} - \frac{1}{2}E_{22} - \frac{1}{12}R \\ &= C_{2323} - \frac{1}{2}R_{33} - \frac{1}{2}R_{22} + \frac{1}{4}R - \frac{1}{12}R \\ &= C_{2323} - \frac{1}{2}R_{33} - \frac{1}{2}R_{22} + \frac{1}{6}R \end{aligned}$$

$$\begin{aligned} C_{2323} &= -P_{11} + \frac{1}{2}(Q_{33} - P_{33} + t_r P) + \frac{1}{2}(Q_{22} - P_{22} + t_r P) - \frac{1}{3}(t_r P + t_r Q) \\ &= -P_{11} + \frac{1}{2}P_{11} - \frac{1}{2}t_r P - \frac{1}{2}Q_{11} + \frac{1}{2}t_r Q + t_r P - \frac{1}{3}(t_r P + t_r Q) \\ &= -\frac{1}{2}(P_{11} + Q_{11}) + \frac{1}{3}(t_r P + t_r Q) \end{aligned}$$

$$R_{3112} = C_{3112} + \frac{1}{2}E_{23} = C_{3112} + \frac{1}{2}R_{23}$$

$$= C_{3112} + \frac{1}{2}(Q_{23} - P_{23})$$

$$C_{3112} = -P_{23} - \frac{1}{2}(Q_{23} - P_{23}) = -\frac{1}{2}(P_{23} + Q_{23})$$

$$\therefore C_{0101} = -C_{2323} = \frac{1}{2}(P_{11} + Q_{11}) - \frac{1}{6}(t_r P + t_r Q) = A_{11}$$

$$C_{0203} = -C_{3112} = A_{23}$$

$$A = \frac{1}{2}(P + Q) - \frac{1}{6}(t_r P + t_r Q)1$$

Hence the symmetric dyadic A and B together with $t_r A = t_r B = 0$ give the ten independent strangled components of weyl tensor.

5. Petrov type classification for A and B :

The five dyad components $\bar{\psi}_{\underline{0}}, \bar{\psi}_{\underline{-1}}, \bar{\psi}_{\underline{-2}}, \bar{\psi}_{\underline{-3}},$ and $\bar{\psi}_{\underline{-4}}$ of weyl spinor

corresponding to $C_{\lambda\mu\rho\sigma}$ are

$$\begin{aligned} \bar{\psi}_{\underline{0}} &= -C_{\alpha\beta\gamma\delta} l^\alpha m^\beta l^\gamma m^\delta \\ \bar{\psi}_{\underline{-1}} &= -C_{\alpha\beta\gamma\delta} l^\alpha n^\beta l^\gamma m^\delta \\ \bar{\psi}_{\underline{-2}} &= -\frac{1}{2}C_{\alpha\beta\gamma\delta} (l^\alpha n^\beta l^\gamma n^\delta + l^\alpha n^\beta m^\gamma \bar{m}^\delta) \\ \bar{\psi}_{\underline{-3}} &= C_{\alpha\beta\gamma\delta} l^\alpha n^\beta n^\gamma \bar{m}^\delta \\ \bar{\psi}_{\underline{-4}} &= -C_{\alpha\beta\gamma\delta} n^\alpha \bar{m}^\beta n^\gamma \bar{m}^\delta \end{aligned}$$

From these components, we have

$$-\bar{\psi}_{\underline{0}} = C_{\alpha\beta\gamma\delta} l^\alpha m^\beta l^\gamma m^\delta \tag{L1}$$

$$\begin{aligned} \text{i.e.} -4\bar{\psi}_{\underline{0}} &= C_{\alpha\beta\gamma\delta} \begin{pmatrix} e^\alpha & e^\alpha \\ 0 & 1 \end{pmatrix} \begin{pmatrix} e^\beta & e^\beta \\ 2 & -i3 \end{pmatrix} \begin{pmatrix} e^\gamma & e^\gamma \\ 0 & 1 \end{pmatrix} \\ &= C_{\alpha\beta\gamma\delta} \left\{ \begin{matrix} e^\alpha e^\beta e^\gamma e^\delta & e^\alpha e^\beta e^\gamma e^\delta & e^\alpha e^\beta e^\gamma e^\delta & e^\alpha e^\beta e^\gamma e^\delta & - \left(e^\alpha e^\beta e^\gamma e^\delta & e^\alpha e^\beta e^\gamma e^\delta & e^\alpha e^\beta e^\gamma e^\delta \right. \\ 0 & 2 & 0 & 2 & + & 0 & 2 & 1 & 2 & + & 1 & 2 & 0 & 2 & + & 1 & 2 & 1 & 2 & - & \left(0 & 3 & 0 & 3 & + & 0 & 3 & 1 & 3 & + & 1 & 3 & 0 & 3 & + \right. \\ e1\alpha e3\beta e1\gamma e3\delta & -ie0\alpha e2\beta e0\gamma e3\delta & +e0\alpha e2\beta e1\gamma e3\delta & +e1\alpha e2\beta e0\gamma e3\delta & +e1\alpha e2\beta e1\gamma e3\delta & +e0\alpha e3\beta e0\gamma e2\delta & +e0\alpha e3\beta e1\gamma e2 \\ \delta & +e1\alpha e3\beta e0\gamma e2\delta & +e1\alpha e3\beta e1\gamma e2\delta \end{matrix} \right. \end{aligned}$$

$$\begin{aligned} &= C_{0202} + 2C_{0212} + C_{1212} - C_{0203} - 2C_{0313} \\ &\quad - C_{1313} - i(2C_{0203} + 2C_{0213} + 2C_{1203} + 2C_{1213}) \\ &= C_{0202} + 2C_{0212} - 2C_{0313} - C_{0303} + C_{1212} \\ &\quad - C_{1313} - 2i(C_{0203} + C_{0213} + C_{1203} + C_{1213}) \\ &\quad 2\bar{\psi}_{\underline{0}} = (-A_{22} + A_{33} - 2B_{23}) + i(-B_{22} + B_{33} + 2A_{23}) \end{aligned}$$

Similarly,

$$2\bar{\psi}_{\underline{-1}} = -(A_{12} + B_{13}) + i(A_{13} - B_{12}) \dots \dots \dots (L2)$$

$$2\bar{\psi}_{\underline{-2}} = -A_{11} - iB_{11} \dots \dots \dots (L3)$$

$$2\bar{\psi}_{\underline{-3}} = -(A_{12} - B_{13}) - i(A_{13} + B_{12}) \dots \dots \dots (L4)$$

$$2\bar{\psi}_{\underline{-4}} = (-A_{22} + A_{33} + 2B_{23}) + i(-B_{22} + B_{33} - 2A_{23}) \dots (L5)$$

Hence

$$A_{11} = -\left(\bar{\psi}_{\underline{-2}} + \bar{\psi}_{\underline{-2}}\right), A_{12} = -\frac{1}{2}(\bar{\psi}_{\underline{-1}} + \bar{\psi}_{\underline{-1}} + \bar{\psi}_{\underline{-3}} + \bar{\psi}_{\underline{-3}})$$

$$A_{13} = -\frac{i}{2}(\bar{\psi}_{\underline{-1}} - \bar{\psi}_{\underline{-1}} - \bar{\psi}_{\underline{-3}} + \bar{\psi}_{\underline{-3}}),$$

$$A_{22} = \frac{1}{2}(\bar{\psi}_{\underline{-2}} + \bar{\psi}_{\underline{-2}}) - \frac{1}{4}(\bar{\psi}_{\underline{-0}} + \bar{\psi}_{\underline{-0}} - \bar{\psi}_{\underline{-4}} + \bar{\psi}_{\underline{-4}}),$$

$$\begin{aligned}
 A_{23} &= -\frac{i}{4}(\underline{\bar{\psi}}_0 - \underline{\bar{\psi}}_0 - \underline{\bar{\psi}}_4 + \underline{\bar{\psi}}_4), \\
 A_{33} &= \frac{1}{2}(\underline{\bar{\psi}}_2 + \underline{\bar{\psi}}_2) + \frac{1}{4}(\underline{\bar{\psi}}_0 + \underline{\bar{\psi}}_0 + \underline{\bar{\psi}}_4 + \underline{\bar{\psi}}_4), \\
 B_{11} &= i(\underline{\bar{\psi}}_2 - \underline{\bar{\psi}}_2), \\
 B_{12} &= \frac{i}{2}(\underline{\bar{\psi}}_1 - \underline{\bar{\psi}}_1 + \underline{\bar{\psi}}_3 - \underline{\bar{\psi}}_3), \\
 B_{13} &= -\frac{1}{2}(\underline{\bar{\psi}}_1 + \underline{\bar{\psi}}_1 - \underline{\bar{\psi}}_3 - \underline{\bar{\psi}}_3), \\
 B_{22} &= -\frac{i}{2}(\underline{\bar{\psi}}_2 - \underline{\bar{\psi}}_2) + \frac{i}{4}(\underline{\bar{\psi}}_0 - \underline{\bar{\psi}}_0 + \underline{\bar{\psi}}_4 - \underline{\bar{\psi}}_4), \\
 B_{23} &= -\frac{1}{4}(\underline{\bar{\psi}}_0 + \underline{\bar{\psi}}_0 - \underline{\bar{\psi}}_4 - \underline{\bar{\psi}}_4), \\
 B_{33} &= -\frac{i}{2}(\underline{\bar{\psi}}_2 - \underline{\bar{\psi}}_2) - \frac{i}{4}(\underline{\bar{\psi}}_0 - \underline{\bar{\psi}}_0 + \underline{\bar{\psi}}_4 - \underline{\bar{\psi}}_4)
 \end{aligned}$$

We can choose the null tetrad so that $\underline{\bar{\psi}}_0 = 0$

(l^μ is a principal null vector of Weyl tensor). Then setting

$$\underline{\bar{\psi}}_2 + \underline{\bar{\psi}}_2 = \tilde{a}, \quad \underline{\bar{\psi}}_4 + \underline{\bar{\psi}}_4 = 4a, \quad i(\underline{\bar{\psi}}_1 - \underline{\bar{\psi}}_1 + \underline{\bar{\psi}}_3 - \underline{\bar{\psi}}_3)$$

$$i\{(\underline{\bar{\psi}}_1 - \underline{\bar{\psi}}_1) - (\underline{\bar{\psi}}_3 - \underline{\bar{\psi}}_3)\} = -2\tilde{b}, \quad i(\underline{\bar{\psi}}_4 - \underline{\bar{\psi}}_4) = 4c$$

$$i(\underline{\bar{\psi}}_2 - \underline{\bar{\psi}}_2) = -2\tilde{c}, \quad \underline{\bar{\psi}}_1 + \underline{\bar{\psi}}_1 + \underline{\bar{\psi}}_3 + \underline{\bar{\psi}}_3 = -2d$$

$$\underline{\bar{\psi}}_1 + \underline{\bar{\psi}}_1 - \underline{\bar{\psi}}_3 - \underline{\bar{\psi}}_3 = -2\tilde{d},$$

we have the following representation for A and B.

$$\begin{aligned}
 A &= -2\tilde{a}\underline{u}\underline{u} + d(\underline{u}\underline{v} + \underline{v}\underline{u}) + \tilde{b}(\underline{u}\underline{\omega} + \underline{\omega}\underline{u}) + (\tilde{a} - a)\underline{v}\underline{v} + c(\underline{v}\underline{\omega} + \underline{\omega}\underline{v}) + (\tilde{a} + a)\underline{\omega}\underline{\omega}; \quad B = -2\tilde{c}\underline{u}\underline{u} + \\
 &b(\underline{u}\underline{v} + \underline{v}\underline{u}) + \tilde{d}(\underline{u}\underline{\omega} + \underline{\omega}\underline{u}) + (\tilde{c} + c)\underline{v}\underline{v} + a(\underline{v}\underline{\omega} + \underline{\omega}\underline{v}) + (\tilde{c} - c)\underline{\omega}\underline{\omega}
 \end{aligned}$$

For different Petrov types of Weyl tensor, we have for A and B,

Type -1: $\underline{\bar{\psi}}_0 = \underline{\bar{\psi}}_4 = 0$ (Two of the principal null vectors of $C_{\lambda\mu\rho\sigma}$ are l^μ and n^μ)

$$\begin{aligned}
 A &= -2\tilde{a}\underline{u}\underline{u} + d(\underline{u}\underline{v} + \underline{v}\underline{u}) + \tilde{b}(\underline{u}\underline{\omega} + \underline{\omega}\underline{u}) + \tilde{a}\underline{v}\underline{v} + \tilde{a}\underline{\omega}\underline{\omega} \\
 B &= -2\tilde{c}\underline{u}\underline{u} + b(\underline{u}\underline{v} + \underline{v}\underline{u}) + d(\underline{u}\underline{\omega} + \underline{\omega}\underline{u}) + \tilde{c}\underline{v}\underline{v} + \tilde{c}\underline{\omega}\underline{\omega}
 \end{aligned}$$

Type-2: $\underline{\bar{\psi}}_0 = \underline{\bar{\psi}}_1 = \underline{\bar{\psi}}_4 = 0$ (l^μ A repeated principal null vector and n^μ a second principal null vector).

$$\begin{aligned}
 A &= -2\tilde{a}\underline{u}\underline{u} + d(\underline{u}\underline{v} + \underline{v}\underline{u}) + b(\underline{u}\underline{\omega} + \underline{\omega}\underline{u}) + \tilde{a}\underline{v}\underline{v} + \tilde{a}\underline{\omega}\underline{\omega} \\
 B &= -2\tilde{c}\underline{u}\underline{u} + b(\underline{u}\underline{v} + \underline{v}\underline{u}) - d(\underline{u}\underline{\omega} + \underline{\omega}\underline{u}) + \tilde{c}\underline{v}\underline{v} + \tilde{c}\underline{\omega}\underline{\omega}
 \end{aligned}$$

Type-D: $\underline{\bar{\psi}}_0 = \underline{\bar{\psi}}_1 = \underline{\bar{\psi}}_3 = \underline{\bar{\psi}}_4 = 0$ (principal null direction of $C_{\lambda\mu\rho\sigma}$ are $l^\mu, l^\mu, n^\mu, n^\mu$).

$$A = -2\tilde{a}\underline{u}\underline{u} + \tilde{a}\underline{v}\underline{v} + \tilde{a}\underline{\omega}\underline{\omega}; \quad B = -2\tilde{c}\underline{u}\underline{u} + \tilde{c}\underline{v}\underline{v} + \tilde{c}\underline{\omega}\underline{\omega}$$

Type-3: $\underline{\bar{\psi}}_0 = \underline{\bar{\psi}}_1 = \underline{\bar{\psi}}_2 = \underline{\bar{\psi}}_4 = 0$ (principal null directions of $C_{\lambda\mu\rho\sigma}$ are $l^\mu, l^\mu, l^\mu, n^\mu$).

$$A = d(\underline{u}\underline{v} + \underline{v}\underline{u}) + b(\underline{u}\underline{\omega} + \underline{\omega}\underline{u}); \quad B = b(\underline{u}\underline{v} + \underline{v}\underline{u}) - d(\underline{u}\underline{\omega} + \underline{\omega}\underline{u})$$

Type-N: $\underline{\bar{\psi}}_0 = \underline{\bar{\psi}}_1 = \underline{\bar{\psi}}_2 = \underline{\bar{\psi}}_3 = 0$ (principal null direction of $C_{\lambda\mu\rho\sigma}$ are $l^\mu, l^\mu, l^\mu, l^\mu$).

REFERENCES

- [1]. Penrose, R and Rindley, W. (1984). Spinors and space time I: Two Spinor calculi and relativistic fields Cambridge university press Cambridge.
- [2]. Newman, E.T., and Penrose R (1962), J. Math-Phy 3.566-578.
- [3]. Geroch, R, Held and Penrose, R (1973) J Math Phys, 14, 874 - 881.
- [4]. Newman, E. T. and Penrose R (1962) J Math Physics 3, 566 - 578.
- [5]. Newman E. T. and Unti, T. W.J. (1962) J. Math Phys., 3, 891 - 901.
- [6]. Penrose R - (1965) Rev. Modern Phys, 37, 215 - 20.
- [7]. Newman, E. T and Penrose R (1968) Prose. Sec.A, 305,175.
- [8]. Penrose - R (1963) Phy. Rev. - Lett. 10, 66.
- [9]. Einstein Albert (1956's) The relativity and meanings of space in Einstein 1954b p 360-377.
- [10]. Einstein Albert (1955) "Appendix 11" the meaning of relativity 5th Prtratont New jersey Prenceton Press.
- [11]. Newman - forms R (1956) The world of mathematics New Yourk siman and Schuster.
- [12]. Wheeler, John Archbald (1955) "geons" physical review 97 : 511 - 536.
- [13]. Penrose Roer (1960) - A spinor approach to General Reltivity Annals of physics 3 10 : 171 - 20.